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HETICTRET 145971 &1 €T9d% GIeT 3R 37T JIcid BT :

(1)
(i)
(111)

(1v)

(v)

(V1)
(vii)

39 Y97-97 H 33 J97 & | @HT I97 AT & |
T Y9797 qiel @US] H [q9ifod 38— @ &, &, T, 909 & |
EGUE & - J97 &1 1 & 16 TF Fgladhcdid THR & J94 & | I9% F97 1 37 ]

& !

GUE & - J97 &7 17 @ 21 T 3ia TG-FRIT JHR & J97 & | I9F F97 2 37!
H &

GUE T— Y97 G&IT 22 G 28 TF TY-IT0T IR & Y97 & | Jd% 37 8 3B H1 8 |
&UE ¥ - J¥7 &7 29 TIT 30 HH-ITTRT J97 & | IP 97 4 3B BT & [

GV & Y97 G&q7 31 & 33 4307 IR & J97 & | I I975 37H] FT & /

(viii) Y97-97 H GHY AT 781 1397 7397 8 | Jef9, @8 & & Iffalks 3= T4l @vsl &

FT JoT1 § RSP 19HT HT T97 1597 TI7 & |

(ix) &I G 1 gieanaa qentern & o7e 37T J97-97 & |
(x)  PoPpeicd H ITIIT dldd & |
QUs &
Y97 &1 1 & 16 T Fgldhcdid JhR & 1 3% & Y97 & | 16 x1=16
1.  GshHY dwal sl 3d HUft § Sgd] g3 ATaEIhReh &HAT 1 Hal A @ :

(A)  MnOj < Cr,05~ < VO,
(B) Cr,02” < VOy < MnOj
(C) VOg < Cr203_< MnO,
(D) VO3 < MnOj < Cr,07~

2.  TGPd [CoCly(en)y]” g IE THTGIGAT T THH 2 :
(A)  SUH gHEIEd
(B) SHATHAE FHTIIET
(C) SYHEHAISH THTEIS]
(D)  ATIAA GHIEGIIAT
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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 33 questions. All questions are compulsory.

(i)  This question paper is divided into five sections — Section A, B, C, D and E.

(111) Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v) Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

(vit) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

(viit) There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

(ix) Kindly note that there 1s a separate question paper for Visually Impaired
candidates.

(x) Use of calculators is not allowed.

SECTION A
Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark
each. 16x1=16
1. The correct order for the increasing oxidizing power in 3d series of

transition elements is :
(A)  MnOj < Cr,07” < VO,
(B) Cr,07 < VOy < MnOj
(C) VO < Cr,07” < MnOj
(D) VOg < MnOj} < crzoﬁ‘
2.  The type of isomerism shown by the complex [CoCls(en)sy] ™ is :

(A) Linkage isomerism
(B) Geometrical isomerism
(C) Coordination isomerism

(D) lonization isomerism
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3. Tr=fciiga gehtor taeaneti § © 9-81 9 J=shvl el § g & ?

(A)  sp°d
(B)  sp
(C) sp°d?
(D) d? Sp3
4. TAfIRga ° & fopd T ik SIS forfaa foham ST @ehat & 2

(A) KCN & 919 Jiud FANES

(B) KCN % H1¥ e FANZE

(C) KCN % 919 JIfUd Ueehlgic

(D) KCN % 919 Sf¢a Ueehlaia

5. T=fafga 9 9 SH-91 gatfees =g g ?

OH CH,OH
o & 0 €
OH OH
(C) é (D) @
NO,

™

6.  HI % @19 AfshaT sk (CH;), CH—- O — CH, &l 3

(A) (CHZ),CH - OH + CH; — OH
(B) (CH3),CH-OH + CH, -1
(C) (CHg)yCH-1I+ CHg-OH
(D) (CHg)yCH-I+ CH4-1
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Which one of the following hybrid states is associated with low spin

complex ?
(A)  sp’d
(B) Sp3
(C) Sp3d2
(D) d* sp3

4, Butanenitrile may be prepared by heating :
(A)  propyl chloride with KCN
(B)  butyl chloride with KCN
(C)  propyl alcohol with KCN
(D)  butyl alecohol with KCN

5. Which of the following is most acidic ?

OH CH,OH
P e
OH OH

e

NO,
6. (CHg); CH — O — CHgq reacts with HI to give :
(A) (CH3),CH-OH + CH; - OH
(B) (CH3),CH-OH + CHg -1
(C) (CHg,CH-I + CH;-OH
(D) (CH3),CH-1I +CHg-1
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C,HO 3Tfuseh g & Flfieh (X) bl fohdl & Ak (V) H Yaal TRl
FHeh gRI STaichd fohal ST Hehal =, &1 3mfuash g3 C,H0, & | Alfh
X) 8 :

(A)  CHs-CH, -0 -CHgq

(B) CHg- CH - CH,

|
OH

(C) CH4-CH,-CH,-OH

(D) 3S9Yad H " i3 Tal

10 mL UHEH @ 50 mL FARIBMH o 919 HaH W f9e@[ &1 o 3¥ad
BT

(A) <60mL
(B) > 60mL
(C) =60mL

(D) =100 mL

g feoes <6l gohTe 2
(A)  ohm cm™

(B) ohm™

(C) em™)

(D) ohm™! cm? mol™!

feret AR R —— 3c91g o ToTT, log [R] Ta THA @ HEY UTH Wiad W Th
O {ET 9Ted gidt 2 fSeehl @17 — 1.25 s=1 2 | 3rfefspan <6l +hife 2
(A) Ueh

(B) A
(C) @
(D) t9=THS
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A compound (X) with the molecular formula C3HgO can be oxidized by
strong oxidizing agents to another compound (Y) whose molecular

formula 1s CqH;O,. The compound (X) is :

(B) CHs- CH - CH,

|
OH

(C) CH5-CH,-CH,—-OH
(D) None of the above

8. On mixing 10 mL of acetone with 50 mL of chloroform, the total volume

of the solution will be :

(A) < 60mL
(B) > 60mL
(C) =60mL

(D) =100 mL

9. The unit of cell constant is :
(A) ohm cm™
(B) ohm™
(C) em™)

(D) ohm ! em? mol™!

10. For a certain reaction R > products, a plot of log [R] vs. time gives a

straight line with a slope of — 1:25 s™1 . The order of the reaction is :

(A)  One
(B)  Zero
(C) Two
(D)  Fractional
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12.

fepell 3= whife JTfUfshaT A — 5 IUE o TTT ty) 2

Al 2-303 log 2
(A) » (B) -
1 [Aly
C D
© AT D) L

STal [Al = AR shl TREH dgar, k = a7 o

foREl ST faeid & Sy fod™d o6 ars 2F 1 3Uieeh 3TaH 0-0225
2 | STaTSYsiiel foet™ a1 Aier-37a

(A) 0-80

(B) 0-725

(C) 015

(D) 0-0225

Uy7 G&IT 13 @ 16 & o0, 21 97 30 70 § — 577 0% &1 Hf9FIT (A) TIuT
g &1 &ROT (R) GRT 3Hlasd febar 77 § | 37 ¥91 & @gl 3 i<l 13T 7 &ist
(A), (B), (C) 3R (D) & @ gAa¢ U |

(A) AMUHYT (A) AR HRO (R) AT T 8 AR BROT (R), AR (A) h
g3 1&g Hdl © |

(B) 3T (A) 3T HRU (R) THI Tl &, Tq Rl (R), AHHIT (A) i
Hal SIS dai hidl 2 |

(C)  ANTHYF (A) F&l 8, T~ RO (R) TeAd 2 |

(D)  SHARYHAH (A) TAd B, T 10T (R) Tl 2 |
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11. For a zero order reaction A >products, tq,1s:

Al 2303 log 2
- (B) -
k[A], 2k

where [A], = 1n1tial concentration of the reactant, k = rate constant.

12. The relative lowering of vapour pressure of an aqueous solution

containing non-volatile solute 1s 0:0225. The mole {fraction of the

non-volatile solute 1s :

(A)
(B)
(C)
(D)

0-80
0-725
0-15
0-0225

For Questions number 13 to 16, two statements are given — one labelled

as Assertion (A) and the other labelled as Reason (R). Select the correct

answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A)

(B)

(C)

(D)

56/2/3-12

Both Assertion (A) and Reason (R) are true and Reason (R) 1s the

correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not

the correct explanation of the Assertion (A).
Assertion (A) 1s true, but Reason (R) 1s false.

Assertion (A) 1s false, but Reason (R) 1s true.
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gl L 7 |

1]
3

13. 397 (A) : dgaArgieaeu i () — NH,)) sl o1 § ¢
FRT(R): U G TIRAT 8 |

14. 3% (A) : TaEA C AN IR | Fid Tal kAT ST Fehal B |
FRO(R):  T92iHd C 51 4 Taaig 8 3R I8 (Ml ° g3 o 919 Icdfsid

2l STdT @ |
15. 379FY7 (A) : Ufcohed @SSl &l UHIHI-ITTHEH Ufcehdd aATSS o 1Y STHIHAT
ok UYHTTASh Tt <hl STTHTshaT 1T 8T 2 |
HRU(R):  Ufchd gASsl ol UHMI-ATERT H&Id: Tgdige UHIA 3Idricd
Al 8 |

16. 3719%HY7 (A) : UNTHH ShISd-shTdeH AMIHAT € T8l ToRdT & |
HRU(R):  ShiSa-shIFeH THShAT Teh ATIHRIA Ffaedmad ATHTshaT 7 |

is 9

17. (%) el o fefifgd Ia8 8 @ -1 Fifieh At digar § Syl
SAffeRaT ST 3T =T 2

[ .

(@) T=fIiga ¥ g&d 3cq1g [TfaT

Cl
¢ (1) NaOH, 443 K
> 9
(11) HY
NOZ 2x1=2
18. (%) WIS ATHeH T 3 ? A-AAIIS M= shl ol H Tesh d 8 gH
awd o sg UfdeAIgs AThad 3114k gl & | o1 ? 1+1=2
AT
(W) EshHY UTqe HUE Tl & 3= A R quidl @ 2 3d-3oft § foed o
shl U T a9 A 8 ? 1+1=2
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13. Assertion (A) : Aniline 1s a weaker base than cyclohexylamine ( O — NH, ).
Reason (R): Aniline is resonance stabilized.
14. Assertion (A) : Vitamin C cannot be stored in our body.
Reason (R):  Vitamin C 1s water soluble and readily excreted in urine.
15. Assertion (A): Ammonolysis of alkyl halides involves reaction between
alkyl halide and ethanolic solution of ammonia.
Reason (R): Ammonolysis of alkyl halides mainly produces secondary
amines.
16. Assertion (A) : Aniline does not undergo Friedel-Crafts reaction.
Reason (R): Friedel-Crafts reaction is a nucleophilic substitution
reaction.
SECTION B
17. (a) Which one of the following pairs of substances undergoes Syl
reaction faster and why ?
(b)  Write the major product in the following :
Cl
(i) NaOH, 443K
—_— 5 ¢
(i) H*
N02 2x1=2
18. (a) What i1s lanthanoid contraction ? Actinoid contraction is greater
from element to element than lanthanoid contraction. Why ? 1+1=2
OR
(b)  Why do transition metals have high enthalpy of atomization ?
Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2
56/2/3-12 11 WIS Yy P.T.O.
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(feTRad el &l IRTNd shifvu 2% 1=2

(%) Uwrss &Y
(@)

3Tk UHHT 377

20. el gum wife &Y rffsear o1 am fees 1:25x10° s 8 | 29 31l
5g %l 2:5g H = H Tehadl 980T T ? 3

| log 2 =0-301, log 3 =0-4771, log4 = 0-6021 |

21. T (WieR gea™™ = 180 g mol ™) T 3% faeta foreli 3rmtma seifer e
% 2.5% I3 o H1Y GHER 8 | AT Hle-eh Ugrd 1 310 YR TRehicrd
ShIINTT. | 2

©is

22, Trafafiad & faw=m & Tou Afvfshanst & gt ST : (Fis 717) 3x1=3
%)  FAREE ° BHEA

@) W$Ha " dfcdfcssse

) UfE O 2-ngTEivE ISR

g) A | Uk 37

23. Ta=fafga & fou s difse 3x1=3
() oA T sdae AES TR 8 R ot I8 wWifes soigemrf
gfaremgs rfufskanat | 317t /94U FHewe B |

(@) afves fHOT Yaor 3Tl i @ |

()  n-AYA FAREES hi AT Ul FARISES Afereh IMTar ¥ Jo1-3199fed &l
STt 2 |

o
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20.

21.

22,

23.

Define the following terms : 2x1=2
(a)  Peptide linkage

(b)  Essential amino acids

A first order reaction has a rate constant 1.25 x 10~ s, How long will

5 g of this reactant take to reduce to 2:5 g ? 2
[log 2 =0-301, log 3 =0-4771, log 4 = 0-6021 ]

A 3% solution of glucose (molar mass =180 g mol 1) is isotonic with 2-5%

solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2

SECTION C

(Give the equations of reactions for the preparation of : (any three) Ix 1=3

(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol

(c) 2-Methoxyacetophenone from anisole

(d) Picric acid from phenol

(Give reasons for the following : Ix1=3

(a) Chlorine 1is ortho/para directing in electrophilic aromatic

substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

56/2/3-12 13 Pl N NI AR P.T.O.
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24. 283 K I forell fociraieh =1 9159 @@ 100 mm Hg 2 | 3§ dd foaa=H 1 9
g Uiehictd shitoe el 283 K W Tohell Joal To[d-319eed AB &1 1 A
[tk @ 50 HId H g1 § (I8 HH ST Tob Taad AB quia: foifera &1 i
g) | 3
25. d9 H 17°C ¥ 27°C T Jig hd W foret NEI AfHishan sh1 a7 19 41 =
STaT 8 | 39 AMfshar ok foru wfshor It o Uitehae shifsu | 3
[ feam T 2 : 2303 R = 19:15 JK ~mol %, log 3 = 0-48 ]
26. TATIRgd a1 &1 f9.91. 9 (emf) IR T 3
Zn (s) | Zn2* (0-1 M) || Sn2* (0-001 M) | Sn (s)
O 0
ﬁ-q-[ TET[ % . EZH2+/Z11 —_— - 076 V, ESIl2+/SIl = 014 V
| log 10 = 1]
27. frfifaa sifiufeamsti § A, B sfit ¢ $ Hwmmt fafa - 2><1§=3
KCN OH™ NaOH + Br,,
<h CH,-CHy,-B A ., B C
(%) 3T A S iR e )
NO,
@) éj Fe+HCl | , NaNO, +HCl CHOH
273 — 278 K
56/2/3-12 14 AAAAAMAMAAAAAMMAAAAAA
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24, The vapour pressure of a solvent at 283 K 1s 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB 1in 50 moles of the solvent at 283 K (assuming complete
dissociation of solute AB). 3

25. The rate of a gaseous reaction triples when temperature is increased
from 17°C to 27°C. Calculate the energy of activation for this reaction. 3
[Given : 2:303 R = 19:15 JK ~* mol ~%, log 3 = 0-48]

26. Calculate emf of the following cell : 3
7Zn (s) | Zn2* (0-1 M) || Sn2* (0:001 M) | Sn (s)
leen : E%n2+/zn — 076 V, E(én2+/sn — — O 14 V

[ log 10 = 1]
27. Write the structures of A, B and C in the following reactions : 2%l é =3
KCN OH™ NaOH + Br,
CHq-CHy-B A B ¢ 5 C
(a) 3 2= =t > Partial hydrolysis;} ’
NO,
NaN HCI Co,H-OH
(b) @ Fe + HCL | A b, TR » B —2 9 > C
273 - 278 K
56/2/3-12 15 VPR AR e Iy P.T.O.
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28. TIHTURad 8 Hag tufshar faiau Ix1=3

(%) aeH-ThIT TI=H
(@) TIhmElfeae Alfsha
() ohi-eTRr TR

Lis Y

HTAcTRGaT 97 a-SITERT F97 & | T B &79d% 16T 37K 13T 7T 971 & I Giorw |

29. HIEEESe Yl N YTURT SH1 H Sfiad o it 37a9des 8id & | 9l 4 W
$l TE 3T IR T TATSehIoH o &9 H HhIA@3se GUgyl VR &l Hifd TJea
3d 8 | OIS ®9 U I Ufdgsgedl Ufcegse 1¥al <hidd 8d 3 |
FTEBISSE] ol IAA-AYIeH H 3I9h oJggl o MUX T HAHHRIES,
Afermashuse iR uifeidess § arfied fohm o & | oeft oI aSss eu=mh
ek Bldl &, AT A et 3TTHRHS qAT bict foerq ¥ ATadTehd 8 J1dl & |
TR ST AHHHSS UeSladdls BldT 8 3R ek 311U g3 CgH90g T

[ EnSAN

T | TS SAfdeRdehl S HI, HoN — OH, siHH Sid, (CH3C0),0 31e

™

T IAYThAT Hhich Uk TLTHT H Teh Ufegalss THgE, Tsh JITH® Ucshlalicieh

98 (- CHy,OH) 3R =R fgdieh Ucshigiiclss 98 ( >CHOH) 9T U |

Ufcearse Hg IUEId Bid g Wi k¥ Ufcsgss g i $ ik S9
3% qdierur, NaHSO4 IS &l gdl 8 | I8 | & ¢l dshid aHIudded &I
o 3(Edcd sl FHATAT 8 S0 T9=TdT shadl C — 1 W 3UTeyd gEgifrds g

f=ma § gt 2 |
56/2/3-12 16 AAARAAAMAAAAAMAAMAANAAN,
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28. Write the reaction involved in the following : Ix1=3
(a)  Wolft-Kishner reduction

(b)  Decarboxylation reaction

(c) Cannizzaro reaction

SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
oglycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, 1.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and i1ts molecular formula was found to be CgH{904. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO)90, ete. its structure was found to contain one aldehyde group,
one primary alcoholic group, (— CHyOH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSO4
addition. This explains the existence of glucose in two cyclic hemiacetal

forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/3-12 17 PR N AN Iy P.T.O.
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() STYERR U AT BT 8 2 1

e T i

(@) T=fIigd bl AHERUES R SRHBUZES H Iifiehd hITT :

SheaeIE, ehid, Taed, Tidaid 1
(M) 39 UiTADRUSS 1 A9 Sase 8 goft e wa1 S 2 | 39 9Tof
& I had 8 ? 2
e PE)

(M) (@) M % 3T GHEFE! & AW Fasy e wshig ®1 H C - 1 W
— OH 99qg & fa=rm& | &1 19— gidt & |

(ii) THME HI Bry T b @Y AMNHAT fha ThicHs TE hl
3ufeyta sl gfy =wiar 8 ? 2x1=2

30. THAU Il o IR U] AT HAPH H d-H&h A B & | T
TEATISAT T IR Wid d-shetehi sl IUTEATd Tshuvul aedi ol AHSHAU dal |
3T L Al & | AR €9 F 9RA d-Se&Tehl @ SRV I @ IS ATALATH
U7 GRITd &, S 3F-eh STTFHIhLUl TTEATT, T FARET Sl F1 qAT 3T ThN
o ToT=el o 91y Gpat 90T 371fQ | HhHUT LTqU AT Sk ANk IcUEhI 07 &
ITFThIT g i ST 8 | HshHUI UTqU 31fd haR aUT 3fed aTsusfiel gidl

g | 3 E o % HMI ! SIT9 qiEd] Jgf gerdl & -
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30.

Answer the following questions :
(a) What are reducing sugars ? 1

(b) Classify the following into monosaccharide and disaccharide

Fructose, Sucrose, Lactose, Galactose 1

(c) Name the polysaccharide which 1s known as ‘animal starch’. Why 1is

it called ‘animal starch’ ? 2
OR
(c) (1) Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

(1) Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured i1ons and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic
properties and paramagnetic behaviour. The transition metals are very
hard and have low volatility. An examination of the E§42 M values

shows the varying trends :
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0
M2 /M

\Y —1-18
Cr - 091
Mn —1-18
Fe —0-44
Co —0:28
N1 —0-25
Cu + 0-34
/n — 076

[

[FTIRad I94T o 39 ST

() TohE ATYR W BH g Gohd & Tob Cu Teh AU a7 & oliehd Zn &l ?

(GTHTY] ShHTR : Cu = 29, Zn = 30) 1
(@) HshHYT dva ATeETeR0T aEATst | fafaedr o1 e 2 2 1
(M) () dAfeIm @ T ah E;2+/M % AW AMAMA JIfd FT g
2 ?
(ii) EShHYT YTl U STFEIRIU EEAT hl TN AT THSHAVT dwal
1 qREa-1aar ¥ e Jer 3= gl 2 2 2x1=2
3T

(M) () Cr*" Yed HAUEE® g S« Mn°" Yoo ATdeihieh, € aHl
3 a* ofisfis &, =i 2
(YTHTY] shHTeh : Cr = 24, Mn = 25)

(i) T A TRt qui hIfTT -

2MnO, + HoO + 1~ > 2 1=2
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0
M2t/M

\Y —1.18
Cr - 091
Mn —1-18
Fe — 044
Co - 0:28
N1 —0-25
Cu + 0-34
/n —0-76

Answer the following questions :

(a)

(b)

(¢)

(c)

56/2/3-12

On what basis can we say that Cu 1s a transition element but Zn is

not ? (Atomic number : Cu =29, Zn = 30) 1

Why do transition elements show variety of oxidation states ? 1

(1) Why do EK/F mn values show irregular trend from Vanadium

to Zinc ?

(11) How 1s the variability in oxidation states of transition metals

different from that of the non-transition elements ? Dx] =2

OR

(i)  Of the d* species, Cr** is strongly reducing while Mn®" is

strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(11) Complete the following ionic equation :

2MnO, + HyO + 1~

2

>

Dl =2
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31. (&) () T=AfaRad & $ro e .
(1)  <hieHI sl T B UfcSarss] ol SATeIehul 3TTE Bral 2 |

I

(2) Ufcegsel % UeHhl (o) BISSISH GTHTURAT hl Jehld TR

gial @ |
i) T=fafEd tHfsRaTsT & IdTe fafkgu
COCH,
@ NaOH /I,
(1) > ? + ?
COCl

(2) @ + (CHg)yCd —> ? + CdCl,

(iii) UIHTSH ITFA R VI | fa¥e i & Tov o qErH=es qdeqo

SINTT | 2+2+1=5

HYAT

(@) () Alfcearss & 2,4-SEARd b aasgsH sl Tl sHsY |

(i) TH=fcIRad =1 39l HCN @ 9fd SAfWsharsfiierdr s sed g¢ sk |

G —

STIIEYd hiSlU :

CH3COCH3 (CHg)3C — COCHg , CH3CHO

(iii) 39 Wi BAFISH FHEES HI a3k 3FAd H [hH IhK
YT Tl ?
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31. (a)

(b)

56/2/3-12

(1)

(111)

(1)

(11)

(111)

SECTION E

Account for the following :

(1) Oxidation of aldehydes 1s easier as compared to

ketones.

(2)  The alpha (o) hydrogen atoms of aldehydes are acidic

1n nature.

Write the products in the following reactions :

COCH,4

@ NaOH/ I,
(1) > ? + ?

COCl

(2) @ + (CHgy),Cd > ? + CdCl,

Give a simple chemical test to distinguish between ethanoic
acid and ethanal. 2+2+1=5

OR

Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

Arrange the following in increasing order of their reactivity
towards HCN :

CH3COCH; (CHg)5C — COCHg , CH3CHO

How can you convert phenyl magnesium bromide to benzoic

acid ?
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(iv) dsifcegrse 3 VYA H fa¥e »d & T O3 TEI-eh qaeTor
TIRgU |

(v) THIRga AfshaT § & 3c91g ToTiaT ;

(i) NaBH,
CHy3-C-CH, -COOCoHy ———7F——> 7
| (1) H
O 5x1=5

32. (%) () 005 M CH;COOH faeiad =1 UfaUe 100 39 9rl T | Ife

g s 00354 em™! 2, a1 UHIfew s faorem hi Hier

[ S

JTAhdl JRehlcTd <hIlSU |

(i) WS o fagd-3taeed &1 yH m fafgr | 1 9 MnO),

Mn2* T 3= & foru e O fopa 3rast &1 Tagaehal arft ?
243=5H

AT

(@) ()  0-0025 mol L~ UHifew 311 <l Ireiehdl 525 x 10° Sem 1 8 |

gfc THifdeh 3FA o oI A(I)n %1 |49 390 S cm? mol_lé,?ﬁ

SHoh! TSRS HTAT b1 UNehad hitau |

(i) S o a2l o UAIS, hlg 3TN gy TWfhar fafge | 3+2=5
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32. (a)

(b)

56/2/3-12

(1v)

(V)

(1)

(1)

(1)

(i1)

Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

Write the main product in the following reaction :

(i) NaBH,
CH,; - C - CH, — COOCoHj, ()T-} ?
[ i

O SxI=5

The resistance of 0-05 M CH5COOH solution is found to be

100 ohm. If the cell constant i1s 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

Mn?* ? 2+3=5

OR

The conductivity of 0-0025 mol L' acetic acid is

5.25 x 10™° S em ™. Calculate its degree of dissociation if A(I)n

for acetic acid 1s 390 S cm2 mol_l.

Write anode, cathode and overall reaction of lead storage

battery. 3+2=5
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33. fo=fviRaa 4 & foogl grer & I ST -

() ITTHAR FHal hl foheed & faured o1l (A,) ThE TR TJSherhid
dped <l fodred a1 (A,) ¥ Haled g ?

(@) THligd 9%d 1 IUPAC 911 TdRgT
[PtClz(e]fl)z] (N03)2

(1)  wIThdl WY g (VBT) o TER | #%a [Ni(CO),] STl
3N gehid FaeR gy |

(")  "PA [Co(NHg)gl [Cr(CN)g] o gRI TohE bR shl HHIIISAT Ry AT

2 7

(&) fortea &3 fagia & smur w Tl SumgaasH @ifies § d* smm =
goiagi-eh fa=am fafgw Ifg A, < P &1 | &1 I8 3udgadeH Jifieh 3=

TeIshUl 31YaT A Tk W% 8 ?

(&) [Co(NHj3)gl®* 3 [Co(NH3),Cly]™ # & HiI9 Bl Hped & 3N
0 ?

8 -

(®) [PtClz(e,-n)Q]2+ % Jeh1I3Teh THTEIC! ehl FL=EETU SAT1ET |
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33. Answer any five of the following : axl=H

(a) How 1s the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex(Ay) ?

(b)  Write the IUPAC name of the following complex :
[PtClz(en)Q] (NOS)Z

(c) Write the geometry and magnetic behaviour of the complex

IN1(CO)4] on the basis of Valency Bond Theory (VBT).

(d) What type of isomerism 1s shown by the complex
[Co(NH3)gl [Cr(CN)g| ?

(e) For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?

()  Out of [Co(NH3)gl°" and [Co(NH3),Cly]*, which complex is

heteroleptic and why ?

(g) Draw the structures of optical 1somers of [PtClz(en)2]2+.
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